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H £ 0 & AFS B Al A

2A: 2elE2dd
T AlE
& SAl2e2Y

BA -3 - 0(33) - ARAM - BES Ofl kol 3
22|22 1,074,235 854,235
TAlZE 998,920 778,920
TAZ2IEE 613,960 393,960
SERNULS 470,000 250,000
305 A= S 470,000 250,000
01 tHat2 8 470,000 250,000
OEXAEZ ¥ 2attiaa 470,000 250,000
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H & 0ol & AHS H Al A

24 B2
H: BRAEXS, 22
Cel: TAIZE |X22l (9] m2)
M- FH - OR(3H) - HIRAE - HESE Oil &l NEH Hiuns2t
22| 21,335,886 20,074,579 1,261,307
[ 21,124 21,124 0
Al 21,314,762 20,053,455 1,261,307
22AxM, 242 21,046,459 19,793,439 1,253,020
[ 21,124 21,124 0
Al 21,025,335 19,772,315 1,253,020
CAIESH RR22 20,463,876 19,210,856 1,253,020
TAIZBE AIZE SR 3,453,000 3,003,000 450,000
401 Al&HI LS 3,453,000 3,003,000 450,000
01 Al&Hl 3,450,000 3,000,000 450,000
OB W =FAIE DHBA 3,450,000 3,000,000 450,000
=X8H HAAY 1,003,000 1,003,000 0
201 YBt2dy| 21,000 0 21,000
01 AlR221Y] 1,000 0 1,000
OAt2221d| 1,000 0 1,000
03 AR 20,000 0 20,000
Q& AL2ZH| 20,000 0 20,000
206 M| 6,000 0 6,000
01 XM=2Hl 6,000 0 6,000
OmMZHl 6,000 0 6,000
401 Al&HIL S TRY] 976,000 1,003,000 A27,000
01 Al&Hl 973,000 1,000,000 A27,000
Oxgns T2y 2% 473,000 500,000 A27,000
SZANE RR22 1,350,000 1,150,000 200,000
401 Al HIZ 201 1,350,000 1,150,000 200,000
01 Al 1,350,000 1,150,000 200,000
OS=01E SHAEZA WAISA 500,000 300,000 200,000
AQIENHE D28 ZHAY 465,000 0 465,000
201 LBt2dH| 43,000 0 43,000
01 Al 22| 3,000 0 3,000
Oll2dY 222 & L JIE AREE 7
g 1,500,000 #2244 3,000 3,000
03 A2 40,000 40,000
OFYWS T2 29 L HASH K&
20,000,000 %274 2 40,000 40,000
206 M= 20,000 20,000
01 M2Hl 20,000 20,000
ON2NS 2 SN2 NWILU(ES S)
2,000, 0002 27 A:#53] 20,000 20,000
401 AlEHIL S OHH| 402,000 402,000
01 Al&HI 400,000 400,000
OABIZNHE OISEE ZHAY
200,000,000 %271 A& 400,000 0 400,000
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SN BRB2D
Zu: DRAXMH, 22
o9 TAIBE R (el z2)
2A -3 - G2(3) - NRAN - BES Ofl &+ N 3Y Hns2t
03 Al = CH| 2,000 0 2,000
Onsze =34 Ha
1,000, 00024527} £:+13] 2,000 0 2,000
NEEENEE 138,020 0 138,020
201 2Br2 | 38,520 0 38,520
01 AFR 22l 15,000 0 15,000
OBEEZ, DN % L XY= 2 15,000 0 15,000
03 #AI2H| 23,520 0 23,520
ORST2I2 2% AAH| 23,520 0 23,520
206 M2t 40,000 0 40,000
01 HEH 40,000 0 40,000
ONIZRIAL THT 7 40,000 0 40,000
405 XhoHFISH 59,500 0 59,500
01 MY SEH S| 50,500 0 59,500
OFANVYE & ALBA X4 59,500 0 59,500
WPES (B2 8,287 0 8,287
ERNE 8,287 0 8,287
braia 8,267 0 8,287
802 Erer27IEl 8,287 0 8,287
02 Al - SHIZZZEIE3 B.287 0 8.287
O2R1E TAIEZ BHIMY FHTY 630 0 630
02021 20| O0l2l =O0IE| X4 Bzl 7.657 0 7.657

463




M & 0l & A H Al

D E2aed

M CZAIE 2

D E2EH 9 &)
2A -3 - S5A(3A) - HRAME - BES Ofl bl NEY Husz

Zel 18,899, 157 11,269,312 7,629,845

) 465,000 0 465,000

& 618,300 496,300 122,000

Al 17.815,857 10,773,012 7,042,845

ZAE 2l 14,850,500 7,550,655 7,299,845

7l 465,000 0 465,000

= 398,300 276,300 122,000

Al 13,987,200 7,274,355 6,712,845

C23Hi 8,568,410 4,100,565 4,467,845

2l 485,000 0 465,000

T 332,000 210,000 122,000

Al 7,771,410 3,890,565 3,880,845

2 T2 B HEE 3,010,000 1,210,000 1,800,000

401 AIEHISL S 0HY| 3,010,000 1,210,000 1,800,000

01 Al&HI 3,000,000 1,200,000 1,800,000

O:-HaEA 2 HEH 3,000,000 1,200,000 1,800,000

CZORAIZE EXISA 1,000,000 600,000 400,000

401 AlZHI 220 1,000,000 600,000 400,000

01 Al£2HI 1,000,000 600,000 400,000

2H0IS20, DINEEX § &2

2 21 & A2+ 1,000,000 600,000 400,000

BU=x=Sstn 23 XS SAt 362,745 0 362,745

2l 18,000 0 18,000

Al 344,745 0 344,745

402 2I2EXH201 ™ 79,075 0 79,075

pJ 9,000 0 9,000

Al 70,075 0 70,075

02 QIZIXI=AH 2 Z (0| M THE) 79,075 0 79,075

OEU=Sstu €& NSzt At 79,075 0 79,075

p 9,000 0 9,000

Al 70,075 0 70,075

403 XIS AH=01 A 283,670 0 283,670

| 9,000 0 9,000

Al 274,670 0 274,670

2 SIS AH2HAS A 283,670 0 283,670

OEUx=Sstn 23 XSs Al 283,670 0 283,670

Jl 9,000 0 9,000

Al 274,670 0 274,670

OHE=Sstu 23 XS SA 1,194,500 0 1,194,500

Jl 447,000 0 447,000

Al 747,500 0 747,500

402 BIEXH=01H 268,000 0 268,000

2l 100,000 0 100,000
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2Al:

K ZH -
S5

CZ e
S2AE 2t

el CREY| G-
2A - 38 - SR(3H) - AIRAY - BES Olf &b N3 A Hws2

Al 168,000 0 168,000

02 SIZHRH ALY 22 (01 XHR) 268,000 0 268,000

OOlZESHD U/ X A 268,000 0 268,000

p] 100,000 0 100,000

Al 168,000 0 168,000

403 XX SHHSXHZ0IH 96,500 0 926,500

| 347,000 0 347,000

Al 579,500 0 579,500

02 2I2ASHCHE SR A S AL 926,500 0 926,500

OOZESED LB XS Al 926,500 0 926,500

I 347,000 0 347,000

Al 579,500 0 579,500

ceexes 1,525,000 1,025,000 500,000

401 AI2HIL 2 0hH| 1,495,000 995,000 500,000

01 A& 1,490,000 990,000 500,000

OZ2RXL4S Sl 1,310,000 810,000 500,000

NS DEZ FA 23,100 16,500 6,600

207 G0N 23,100 16,500 6,600

JEEEEET 23,100 16.500 6,600

OA.& DEBEA 23,100 16,500 6,600

T2 SNZ2 NAMS(SZHHIEIL) 40,000 0 40,000

= 40,000 0 40,000

401 A SHI LS THYI 40,000 0 40,000

= 40,000 0 40,000

AET 40,000 0 40,000

OZ2 JEALE 43 40,000 0 40,000

= 40,000 0 40,000

BEAAEI N A 164,000 0 164,000

< 82,000 0 82,000

Al 82,000 0 8,000

401 Al&2HI L2 HY| 164,000 0 164,000

= 82,000 0 82,000

Al 82,000 0 82,000

o1 Al 164,000 0 164,000

OFEAIHR AL 164,000 0 164,000

[ 8,000 0 82,000

Al 8,000 0 82,000

EENFEET 1,231,240 831,240 400,000

= 66,300 66,300 0

Al 1,164,940 764,940 400,000

B S2EX F| 300,000 200,000 100,000

401 AZBIL ST 300,000 200,000 100,000
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24 T2
HH, S2AIE &2
Cel: SZAIEE 2L (S M Q)
2A - 3H - 8R(33) - ARAMY - BES Ofl &b2h 3N Hns
01 A28l 300,000 200,000 100,000
Ot S2HEX Fd| 300,000 200,000 100,000
C2ANEE FANEF 800,000 500,000 300,000
401 AlEBIYL =0 800,000 500,000 300,000
01 AlZ2H 800,000 500.000 300,000
OEZANEE RXNES AL 740,000 440,000 300,000
23| 5,050,850 2,618,850 2,432,000
2 =% 21=FY| 1,403,600 603,600 800,000
401 AlZ2BIL S OHYI 1,403,600 603,600 800,000
01 Al2bl 1,400,000 600,000 800,000
Ok= 2=FHI 1,400,000 600,000 800,000
DIEEIXIXIR L ECHHIZA 630,000 30,000 600,000
401 Al H| L2 IHY 630,000 30,000 600,000
01 Al2Hl 630,000 30,000 600,000
OO BIXNRI TR W E=FHIBA 830,000 30,000 600,000
X SFZBISA 230,000 0 230,000
401 AlZHIL ST 230,000 0 230,000
01 AI2d| 230,000 0 230,000
OXTEA EFEHISAM 230,000 0 230,000
AR L BE-HHISAM 150,000 0 150,000
401 AlEBIZ LTI 150,000 0 150,000
01 Al&BI 150,000 0 150,000
OARD L3 2-ZHISM 150,000 0 150,000
SED 2R T2 I FC-FHISA 400,000 0 400,000
401 AIZHIL S 400,000 0 400,000
01 Al&€HI 400,000 0 400,000
OzED 22 =2 € 2ET-FHISAM 400,000 0 400,000
AcE MEDS 22 25 £X SA 22,000 0 22,000
401 AIZBI 2 OHH 22,000 0 22,000
01 AlZ8I 22,000 0 22,000
Ozteg dZEDIS 22 EXERSA 22,000 0 22,000
282 EEHXSA 50,000 0 50,000
401 AIZHIZL S THYI 50,000 0 50,000
01 Al&HI 50,000 0 50,000
O=8el E=&X3AM 50,000 0 50,000
TE ROPHS OHIIE 2R ETFBISA 180,000 0 180,000
401 AlEHIL S CHYI 180,000 0 180,000
01 AlZH! 180,000 0 180,000
O&E RONEO0HUHE LH 2-FHISA 180,000 0 180,000
NENEZ 2,988,854 2,656,854 330,000
HNEAHEZ 2,986,854 2,656,854 330,000
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A E2220
3 AR

S AMEHEZ EREED)
2A -3 - SA(SIH) - ARAE - BES Ol el 3 A HlwES2t
MM TS FOXRAIE(ER2 B2 U NEHEZ 100,000 0 100,000
ZAAE)

401 Al S 0HEY 100,000 0 100,000
01 A&t 100,000 0 100,000
Oge 28z U UHEH T2 ZHAIY 100,000 0 100,000
AEH NEHEZ HESZINE ALY 230,000 0 230,000
401 AlEHIZ 20| 230,000 0 230,000
01 AlZH| 230,000 0 230,000
OZEH NEAHTZ gHY & Mo Al 230,000 0 230,000
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SH: ERAMRRID
Hm: C2ALE 22
oe: E2IXE e

Al

Of & AHES & Al

2A - Z3 - SR(3H) - HRAIE - BES O &kl N3 Hns2
CZAE 20 20,784,246 18,425,346 2,358,900
= 150,000 150,000 0
= 380,650 288,750 91,900
Al 20,253,59% 17.986,5% 2,267,000
SZAIEE 2l 20,470,79% 18,111,8% 2,358,900
= 150,000 150,000 0
= 380,650 288,750 91,900
Al 19,940, 146 17,673,146 2,267,000
E2REE 2l 14,282,780 14,180,780 102,000
= 323,750 288,750 35,000
Al 13,959,030 13,892,030 67,000
AN LED Ot2S &X 137,000 102,000 35,000
= 137,000 102,000 35,000
401 Al2HIYLROHYI 137,000 102,000 35,000
= 137,000 102,000 35,000
01 Al&H| 137,000 102,000 35,000
ONZL LD JtIZ2S &X 137,000 102,000 35,000
3 137,000 102,000 35,000
SEHY ®AZcdl 1,505,960 1,438,960 67,000
201 B2 S 201,960 134,960 67,000
02 3324Hl 201,000 134,000 67,000
O=8HE |2l 193,000 126,000 67,000
—HIIQB(FRHTA 750KVA) 132,000 72,000 60,000
—HI LS (FHEA 500KVA) 61,000 54,000 7,000
ol th ™ 4,476,240 2,219,340 2,256,900
= 56,900 0 56,900
Al 4,419,340 2,219,340 2,200,000
T2 Zoith =& 4,472,840 2,215,940 2,256,900
=S 56,900 0 56,900
A 4,415,940 2,215,940 2,200,000
206 M=6l 1,964,900 358,000 1,606,900
= 56,900 0 56,900
Al 1,908,000 358,000 1,550,000
01 M= HI 1,964,900 358,000 1,606,900
O#HolifHHlE MEM F& 1,908,000 358,000 1,550,000
—Z3ZEs 1,046,000 171,000 875,000
—4aa 855,000 180,000 675,000
OzEd MEX 7 56,900 0 56,900
= 56,900 0 56,900
401 AIEHIL =0 2,010,000 1,360,000 650,000
01 Al&Hl 2,000,000 1,350,000 650,000

OR4 2xtEdl 8(gr, 24|, 28

2) 1,344,000 950,000 394,000
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2A:

CEAL 22|

M TZALE 2l
EHPlr ZoHONH EEREE)D)
2A - 38 - 2R(3A) - HRAMY - BES Ofl ol DI Hlus2
—H& EH 994,000 600,000 394,000
OSHS 4l 24(SHSUIE) 656,000 400,000 256,000
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